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1. NERBERY—ERE (i) <FEEBE=E> (F)
ENERXD NERKREHED BEE BE |[1B%-YDEE
788848/ B 15548 854 4,474
EMiE 1 FHERIME PETEE] 1,707 | 1,740 1,880 5,327
(%) 22841/ 8 FEE | 2,561 6,181
8638/ H 18&48 933 4,553
EhiE 2 EAERImE 2%I&48 1866 | 1,740 1,880 5,486
(%) 228442/ 8 3EAE 2.798 6,418
92884t/ B 1858 1,001 4,621
EMh € 3 EHERINE PETEE] 2003 | 1,740 1,880 5,623
(%) 22841/ 8 FEE 3,004 6,624
0858 {7/ H 18&4E 1,061 4,681
ENhiE 4 EERImE 2%I&48 2123 | 1,740 1,880 5,743
(%) 228442/ 8 3EAE 3.184 6,804
10408 /8 181848 1,119 4,739
EZMNE 5 EAERINE PETEE] 2239 | 1,740 1,880 5,859
(%) 22841/ 8 FEE | 3,358 6,978
*1Bif7 =10.54M
2. NERRERY—ERE (i) <BEKE> (F)
ENERS NERZREES BEE BE [1B%Y0LE
871845/ 185HE 941 3571
ENiE 1 EERImE 2%I&48 1,882 750 1,880 4512
(%) 22841/8 318 2824 5,454
9478 /B 1EaE 1,021 3,651
EMhiE 2 FHERIME PETEE] 2043| 750 1,880 4,673
(%) 22841/ 8 FEE ] 3,064 5,694
10148 45/8 18&4E 1,092 3,722
EMhiE 3 EERImE 2%I&48 2184 | 750 1,880 4814
(%) 228442/ 8 3EAE 3.276 5,906
107285 /8 181848 1,153 3,783
EhiE 4 FHERIME PETEE] 2306 | 750 1,880 4,936
(%) 22841/ 8 FEE ] 3,459 6,089
1125845 /H 15&4E 1,209 3,839
ENE 5 EAERImE 2%I&48 2,418 750 1,880 5,048
(%) 228842/ 8 3EAE 3,627 6,257
*1Biff =10.54M
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